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 Model  Answer 

Answer of (Q1)                                                                                                   (24 Marks) 

No. (A) (B) (C) (D) 

1     

2     

3     

4     

5     

6     

7     

8     

9     

10     

11     

12     

 

Answer of (Q2)   

 

2.1 )))))(((*(( YABSSQRLOGXABSCOTZ =                               (3 Marks) 
 
2.2 IF yx => THEN )3/1(^yx =                                         (3 Marks) 

 
 

2.3 ^1.5)COS(ABS(X)   ZTHEN   1C  IF
^1.5)COT(ABS(X)   ZTHEN   1C  IF

==
==

                            (3 Marks)             
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Answer of (Q3)   

 

                 ΟΟΟΟΟΟ     
                                                               3.1.

) B      C     A          -      B    /     ) C     (A       (   TAN          
↓↓↓↓↓↓

−+−

   (3 Marks) 

 
 
 
 
  

              ΟΟΟΟΟΟ      
                                                            3.2.

) )A     -   B  (A    /       (  ABS     -      C     /    B)     (A              
↓↓↓↓↓↓

+

      (3 Marks) 

 
 
 
 
 

        

                 ΟΟΟΟΟΟ     
                                                                3.3.
  ZOR  )  Y  OR     ZNOT  (   AND   ) C       3   ^(A             

↓↓↓↓↓↓

<=

  (3 Marks) 

 

 

 

 

 

 

 

 

 

 

   
        6                      1                 2              3                4                5 

   
        1                  5             6          4                3                  2 

   
        1                2                   5              3                4                   6 
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Answer of (Q4)                                                                                              (8 Marks)    
 

      

    START 
                                                                 
 
 
          FACT = 1 
                                                                
 
 
 
                                                                  K = 1 
 
 
 
 
                                                     FACT = FACT * K  
   
  
 
 
 K= K+1 
 
 
 
 
  K<=50 YES 

 
 
 NO 
 
 
 PRINT  FACT 
 
 

 
                                                                  STOP 
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Answer of (Q5)              (10 Marks)   

 
This program is used to compute and print one the roots of equation ( )01)sin( =−+ xx , 
near x=1,  using Newton Raphson method.                                                          (5 Marks)   

 
 

The outputs are                                                                         
 
 
 
 
                                                                                                                             (5 Marks)   
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